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Solving Proportions (6-3)

Decode
crosy producty CYr* 055
protducts
Definition 'Example Lo X X =y
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113 = 3x
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Example 1: Decide if the ratios form a proportion.

I Do | You Do
5.22| = 1.0 L1y = |1-89
W19S £ 1,020 Y =9y V/
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Example 2: Solve each proportion.

I Do You Do

27 72 v 2

Prlaon 82521
1572 = L1y QYy-2:=21V
0% = M1y L3 = glv

3 21 2

) | @

Example 2: Emma makes $75 babysitting for 15 hours.

I Do | You Do

How much money would she make | How many hours must she babysit to

if she babysat for 22 hours? earn $857
15 _ 8w | Y15 w2
|5L“«5?( 22 hs. 1Sws, X s
75.22= 19X 1585 = 15%
[0S0 = NBX 1,275 = 75%
- IF 7> 12
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